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SEMLA
TRAIM NN S2(LHSIHY/LeET)
CAEER (&9 8 )
SN - H - S9(3H) - HRAE - BES ol&rey pE-Ll HI DS
s 8,120,001 7,405,468 714,533
= 24,361 24,361 0
Al 8,095,640 7,381,107 714,533
AR Mt 29 (UCSIHEY/ABHT) 4,237,546 3,873,097 364,449
&L 4,237,546 3,873,097 364,449
ANEEE 4,091,946 3,737,497 354,449
101 21244 2,449 0 2,449
04 JIZtH2 2 RS2+ 2,449 0 2,449
OGFANAHSIIQyAAT HH EX QIR 2,449 0 2,449
—elAt| 73,2803 * 198 » 30 2,199 0 2,19
—4028 RE= 250,000& * 1 250 0 250
201 ZetE2g| 3,975,027 3,623,027 352,000
01 AtR2teld] 3,871,100 3,519,100 352,000
OsZ Z2HE Jj2g:
250,000,000& » 14 250,000 0 250,000
OsS4&E Al 54 21
Z& 2,700,000& = 16744 = 10 432,000 330,000 102,000
=OICIHE &8s MNEER 145,600 135,600 10,000
201 deL= | 101,300 91,300 10,000
01 At2t2lH 101,300 91,300 10,000
OSNS JHEE Eold 2l & &8
10,000,000 * 14 10,000 0 10,000
SIS (LB SSUE/LBHHT) 3,328,880 2,999,798 329,082
= 24,361 24,361 0
Al 3,304,519 2,975,437 329,082
HEY L5 FA 3,018,362 2,793,600 224,762
& 5,331 5,331 0
Al 3,013,031 2,788,269 224,762
AL 2e| FA 1,814,607 1,659,607 155,000
201 deH= | 1,105,615 1,104,615 1,000
02 SE=3H| 1,034,565 1,033,565 1,000
OloT &M&& O|H&X 200,000 = 5CH 1,000 0 1,000
401 AlEHIZL 00| 154,000 0 154,000
01 Al£H] 154,000 0 154,000
OAROIHE N SHIE &HZoHe
154,000,000& * 14 154,000 0 154,000
HAMEH B2 1,069,930 1,050,930 19,000
207 AN 189,000 180,000 9,000
02 HADHEH] 189,000 180,000 9,000
OSEMENZSIAIAE 2-Lict 2.0 HAH|
3,000,000& * 14| 3,000 0 3,000




SN EREAA
M HBSAI(LIDIUT /A E)
ol By YR =X (erl: &g
SH - B C(3H) - NRAY - BES Ofl Aok pJE=Ll F{ImE=ST
OREE DA AZeI0(2 L2t 2.0, XAIH
NLTHE) A 3,000,000& » 24! 6,000 0 6,000
405 XHHH S 674,850 664,850 10,000
01 ML ESEH S 674,850 664,850 10,000
OgRE d&Edl 28 293,000 283,000 10,000
—Le= 2% 2,000,008 * 11cH 22,000 2,000 0,000
NAYEs =3 Y 12,357 11,595 762
201 24| 12,357 11,595 762
01 At22teld| 12,357 11,595 762
OS300IEe & 200l Ws A= 762 0 762
] 672,000 * 13| 672 0 672
— 04t 90,000& * 13 0 0 90
FEMHIA Sdst 103,700 53,700 50,000
207 AN 50,000 0 50,000
01 AFEAH] 50,000 0 50,000
OLES SH0IE 24 2
50,000,000 * 14 50,000 0 50,000
N2 =& 310,518 206,198 104,320
= 19,030 19,030 0
Al 201,488 187,168 104,320
SHOoIX 29 187,120 87,120 100,000
207 AN 100,000 0 100,000
02 &&DHE| 100,000 0 100,000
OCIXIE AIE EHOIXI CIXIQl HE 2 DEsl
100,000,000& * 14l 100,000 0 100,000
d2s 0229 35,070 30,750 4,320
301 LBrES 15,640 11,320 4,320
09 HAIMHIXIZS 8,640 4,320 4,320
OFBE0IE SYSI DS &I}
90,000& = 2H * 33| » 204 1,080 0 1,080
OBEH0IS FOIAY LSDST &I
90,000& » 6H » 2 » 204 2,160 0 2,160
OFP0IE TRIMBAN 1 &I}
90,0003 » 1 = 33| » 2& » 2042 1,080 0 1,080
Silze| (LSS /preE) 443,403 422,403 21,000
stlze] 443,403 422,403 21,000
shize| 443,403 422,403 21,000
401 AlEHIYLLOHY| 21,000 0 21,000
01 Al&HI 21,000 0 21,000
OAFHHZIQMHAT BAR SAMR 2=
21,000,002 * 14! 21,000 0 21,000
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